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X(1.2DPD -T=0%H\T, T=D=30kN%2%%,

FIRE1.2 DEE
X (L4)PD2F —W = 0% VT, F=W/2=300kN/2 = 150kN %7525,

fIRE1.3 DEE

X(1.9LY, R=W,+W, =600+ 500=1100N

wIZK(1.9D Wob—Wia=0 ZHWT, a= W,/W,)b = (500/600)30 = 25cm
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n—7" AB & ACIT/EHT 5 /1% PP, EBWT, Xy i 5RO ST DD HWnE %
NZENEZ D, TIOTFHEN Xy OED S E —ETHEA5%IE, WOEA%A
EBWT, yEFMDI DO HENWEEZD L

P, sin60° + P, sin45°— W =0 (1.4.1)
X Bl 7 [ DWW THE, IR E 15D,
P, cos 60° — P; cos 45° = 0 (1.4.2)

(1.4.2)0° 6
P, = Py(cos 45° / cos 60°) = P,(1/v2)/(1/2) = V2P,
HREY, ZhaeXQ4ADRATLE
V2P, xV3/2 + P, x 1 /N2 —W =0

» (Ve +V2)2=Ww
L7223 > T,

P, = (V2/{\3+1}H)w

P, =V2P, = 2/(V3+ )W
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Ry+ Rz —200—-400=0 (1.5.1)
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R, X 100 — 200 X 70 — 400 X 40 = 0
R, = 300N
A(1.5.1)7 5
Ry = 300N

7816 DS
SROENE TELT, KEFMERELMDIIOD0HENEEZ D,
K¥FH F—Tsinf=0 — F=Tsinf
$NE 5] Tcos@—W =0 — W =Tcosb
(1.6.1)/=((1.6.2)1~ &,
tan@ = F/W
0 =tan 1 F/W
BORIZal LTHEADEYDE—AL FODYENLDY
(a/2)sinaXxW —acosaxXxF =0
e
tana = 2F /W
a =tan " 12F/W
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20X 1.2+ 8% 0.4 —Rgy x 0.4 =0

~ Rpxy = 68KkN
AKETFE DY EVIND
Rpx —Rax =0
. Rpx = Ryx = 68kN
ENE DD BN

f RAY == 28kN
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(1.6.1)
(1.6.2)
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Bx2)+(6x2)+(B3%x2)+(8x4)+(4%x2)—(Rgy X6)=0
. Rpy = 10.67kN
KFEF DD EVIND
—Ry, +343=0
. Ry, = 6kN
ERIEL RO TIDD) H VNG
Ryy—6—4—8+Rgy =0
. Ruy = 18 — Ry = 7.33kN



